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The diagram below shows four figures that have been translated. You can slide Mug 1 to

Period:

Sliding on a Grid 3.2

get the other three mugs.

3.

4.

5.

1. Describe the translation that moves Myg.1 to Mug 2.

Mug 1 wag trans loded g unite

hOﬂzoMnJN owd 2 unitz verhically

4o pecome Muo) Q.

2. Fillin the table below to show the effect this translation
had on the coordinates of Mug 1.
Point A B C D E F
Coordinat : - ey
tmugi | 5D | e [(3,-H)|(3,-2) |4, -2 [ )
i
“ormiga | (%, -B)[(1,-9) |(,-2) | (o, -1 | (4, -1) |(4,-2)

Write a rule showing how the coordinates of key points on Mug 1 relate to their images after a
translation to Mug 2:

(% )= (Xt ,y+2 )

Describe the translation that moves Mug 2 to Mug 3.

Mvw\ 2 Wostapnsioted —2 mﬂs horizomvd\\f aind % um#s

Fill in the table below to show the effect this t&s&%y Yha‘ct%n%t%cc%%%\atews] ug 2

Point A B C D E F
coornet=s|2,-5) [1,-2) | 6, - [0, -1 [ (1 -D [, -2
“otmugs (1,3 1(5,2) [, 0) [(4D) [, (3,0

6. Write a rule showing how the coordinates of key points on Mug 2 relate to their images after a
translation to Mug 3:

(X, Y)9 (X"'g 'Y'rg )




7. Describe the translation that moves Mug 3 to Mug 4. |
Mug % was hansieded — A unite horizopdally and -2 units
' verh callgt 1o becone Mua L.
8. Fill in the table below to show the effect this translation had on the coordinates of Mug 3.
Point A. B C D E F
Coorina=1(1,2) [ (9, 2) [ (4, L) | (4 D] (3, | (R, L)
“ormuga | (-8, 1) | (M D, [5,9) |CT e [ L)

9. Write a rule showing how the coordinates of key points on Mug 3 relate to their images after a
translation to Mug 4:

(Xr Y)9 (X‘"c;] I\’ —9\ )

10. Using the information you collected in this investigation, what can you summarize about the
effect a horizontal translation has on the coordinates?
I & horizonded Honslation 1o 4o the left, subtract from
the - coordinate, if it otothe right; add +o the X-coordinete.
11. What can you summarize about the effect a vertical translation has on the coordinates?
If +he verfical translchon s down, sulbtyact from —the
Ywordinate, if its up, odd to the y-coordivecte.
12. A traingle has vertices at A(-4,3), B(1,5), C(2,-2). Using the rules you have discovered in this
investigation, what would the new coordinates be if it was translatedt-z units horizontally‘.i

subihract 2
A %

N, 3)B-|.5) (O, Q)

What if it was translated 4 units vertically?

Y odd H 4o Y

AT B T) 33




